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Quiz for Section 3.4
1.  (2 pts)  Just before a presidential election, a national opinion polling firm increases the size of its weekly sample from the usual 1500 people to 4000 people.  The most likely reason they did this was (choose one of the following):  ______



(a)  to reduce bias; 



(b)  to increase bias;



(c)  to reduce sampling variability; 



(d)  to increase sampling variability.
2.  (8 pts)  Each March, the Bureau of Labor Statistics carries out an Annual Demographic Supplement to its monthly Current Population Survey.  The March 2000 survey recorded the incomes of 55,899 people between the ages of 25 and 65 who had worked but whose main work was not in agriculture.  We will treat these 55,899 people as a population.  As is usually the case, the distribution of incomes in this population is strongly skewed to the right.  To estimate the mean income in this population, we can select an SRS and use the sample mean 
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to estimate the unknown population mean.  How will the sample mean behave when we take many samples?


We used software to choose 1000 SRSs of size 25 and another 1000 SRSs of size 100.  Figure 3.11 shows histograms of the two sets of 1000 sample means, using the same classes and drawn to the same scale for easy comparison.


(a)  About what is the range (tell min and max) of the sample means for samples of size 25?  _______________  For samples of size 100?  _______________  
What general fact about sampling distributions does this comparison illustrate?


(b)  Based on the sample means for samples of size 100, about what is the value of the mean income for this entire population?  _____________
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